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1. [kM+h Qly dh nks ykbuksa ds chp ukyh esa 

ty laxzg dgykrk gS % 

 
1. Water harvesting in standing crop 

between two rows is called : 

(A) bUVj jks ty laxzg  (A) Inter row water collection 

(B) lrgh fu{kkyu  (B)  Surface drainage 

(C) bUVjk jks ty laxzg  (C)  Intra row water collection 

(D) lekUrj ty laxzg  (D)  Parallel water collection 

2. CAZARI vofLFkr gS % 
 

2. CAZARI is established at : 

(A) dkuiqj esa  (A) Kanpur 

(B) gSnjkckn esa  (B)  Hyderabad 

(C) tks/kiqj esa  (C)  Jodhpur 

(D) nsgjknwu esa  (D)  Dehradun 

3. ‘kq”d {ks=ksa esa fVdkÅ [ksrh 
----------------------

 ds fy, 

vko’;d gSA 

 
3. In dry land sustainable agriculture is 

essential for : 

(A) Qlyksa ,oa i’kqikyu  (A) Crops and Animals 

(B) Qlyas mxkus  (B)  Crops cultivation 

(C) Qlyksa ,oa eRL; ikyu  (C)  Crops and Fishery 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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4. Hkkjr esa yxHkx 
-------------------

 Hkwfe ij ‘kq”d [ksrh 

gksrh gSA 

 
4. In India approximately dryland sown area 

is : 

(A) 75%  (A) 75% 

(B)  50%  (B)  50% 

(C)  65%  (C)  65% 

(D)  80%  (D)  80% 

5. ^LVcy efYapx* dk lEcU/k gS % 
 

5. ‘Stubble mulching’ is associated with : 

(A) ok;q {kj.k ls  (A) Wind erosion 

(B) ty {kj.k ls  (B)  Water erosion 

(C) fgekuh {kj.k ls  (C)  Glacial erosion 

(D) (A) vkSj (B) nksuksa ls  (D)  Both (A) and (B) 

6. xfy;kjk [ksrh dgykrh gS % 
 

6. Alley cropping is also known as : 

(A) gst jks b.VjØkWfiax  (A) Hedge row intercropping 

(B) vosU;q ØkWfiax  (B)  Avenue cropping 

(C) (A) vkSj (B) nksuksa  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

7. Qly vof/k 75 ls 120 fnu gksrh gS % 
 

7. Length of growing period between 75 to 

120 days is for : 

(A) ckjkuh d`f”k  (A) Rainfed farming 

(B)  ‘kq”d d`f”k  (B)  Dry farming 

(C)  ‘kq”dHkwfe d`f”k  (C)  Dryland farming 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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8. lkekU;rk iz{ks= tyk’k; dk vkdkj gksrk gS % 
 

8. Generally the size of farm pond is : 

(A) 100–150 m
3 

 (A) 100–150 m
3 

(B)  100–300 m
3
  (B)  100–300 m

3
 

(C)  300–400 m
3
  (C)  300–400 m

3
 

(D)  400–500 m
3
  (D)  400–500 m

3
 

9. feyh tylesV iz{ks= dk vkdkj gksrk gS % 
 

9. Milli watershed have the size of : 

(A) > 50,000 ha.  (A) > 50,000 ha. 

(B)  1–100 ha.  (B)  1–100 ha. 

(C)  1,000–10,000 ha.  (C)  1,000–10,000 ha. 

(D)  10,000–50,000 ha.  (D)  10,000–50,000 ha. 

10. d.Vwj esM+cUnh ds fy, o”kkZ gksuh pkfg, % 
 

10. Contour bunds are followed in rainfall  

of :  

(A) < 600 mm  (A) < 600 mm 

(B)  > 600 mm  (B)  > 600 mm 

(C)  > 800 mm  (C)  > 800 mm 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

11. dkSu&lh Qly iz.kkyh esa U;wure Hkwifj”dj.k 

viuk;k tkrk gS \ 

 
11. The practice of minimum tillage is 

associated with which of the following 

cropping systems ? 

(A) cgqQlyh [ksrh  (A) Multiple cropping 

(B) lksy [ksrh  (B)  Sole cropping 

(C) fefJr [ksrh  (C)  Mixed cropping 

(D) fjys [ksrh  (D)  Relay cropping 
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12. dkSu&lk Qly pØ e`nk dh moZjrk dks cuk;s 

j[krk gS \ 

 
12. Which of the following cropping 

rotations sustains soil fertility ? 

(A) /kku&/kku  (A) Rice-Rice 

(B) /kku&nyguh Qly  (B)  Rice-Legume crop 

(C) /kku&xsgw¡  (C)  Rice-Wheat 

(D) eDdk&xsgw¡  (D)  Maize-Wheat 

13. Qly pØ dgykrk gS % 
 

13. Crop rotation is defined as a : 

(A) ,d [ksr esa izfro”kZ dbZ izdkj ls Qlyksa 

ds cksus dk izØe 

 (A) System of growing different kinds 

of crop on the same land 

(B) ,d [ksr esa izfro”kZ cny&cnydj Qly 

cksus dk izØe 

 (B)  System of growing different crops 

in succession on the same land 

(C) fofHkUu izdkj dh Qlyksa dks cksus dh 

fof/k;k¡ 

 (C)  Method of growing different crops 

(D) ,d Qly dh fofHkUu {ks=ksa esa cqokbZ dk 

izØe 

 (D)  System of growing the same crop 

on different fields 

14. fdlh fuf’pr {ks= ,oa le; esa nks ;k nks ls 

vf/kd Qlyksa dks mxkuk dgykrk gS % 

 
14. Practice of growing two or more different 

types of crops in the same field at the 

same time is called : 

(A) Qly pØ  (A) Crop rotation 

(B) eksuksdYpj  (B)  Monoculture 

(C) fefJr [ksrh  (C)  Mixed cropping 

(D) ijrh [ksrh  (D)  Field follow 
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15. o”kkZ ekius dk ;a= dgykrk gS % 
 

15. Rainfall is measured by an instrument 

called : 

(A) cSjksehVj  (A) Barometer 

(B) ,suheksehVj  (B)  Anemometer 

(C) lhLeksxzkQ  (C)  Seismograph 

(D) jsu xst  (D)  Rain gauge 

16. o”kkZ ty dks bdëk dj mi;ksx djuk 

dgykrk gS % 

 
16. What is called for the collection of rain 

water for use ? 

(A) jsu fMfxax  (A) Rain digging 

(B) jsu DysD’ku  (B)  Rain collection 

(C) o”kkZ ty lap;u  (C)  Rainwater harvesting 

(D) o”kkZ ty ifEiax  (D)  Rainwater pumping 

17. ok”iu izfrjks/kh inkFkZ de djrk gS % 
 

17. Anti-transpirants reduce : 

(A) ok”iksRltZu  (A) Transpiration 

(B)  ‘olu  (B)  Respiration 

(C)  izdk’k&la’ys”k.k  (C)  Photosynthesis 

(D) (A) vkSj (B) nksuksa  (D)  Both (A) and (B) 

18. Hkkjr dk dqy d`f”kr {ks= gS % 
 

18. Net sown area in India is : 

(A) 144.0 Mha  (A) 144.0 Mha 

(B)  141.2 Mha  (B)  141.2 Mha 

(C)  145.4 Mha  (C)  145.4 Mha 

(D)  135.6 Mha  (D)  135.6 Mha 
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19. jk”Vªh; lqnwj laosnh ,tsalh fLFkr gS % 
 

19. National Remote Sensing Agency 

(NRSA) is situated in : 

(A) casxyq# esa  (A) Bengaluru 

(B) gSnjkckn esa  (B)  Hyderabad 

(C) ubZ fnYyh esa  (C)  New Delhi 

(D) nsgjknwu esa  (D)  Dehradun 

20. Hkkjr esa dkSu&lh e`nk dk {ks= lcls vf/kd  

gS \ 

 
20. Which is the larger area of the soil in 

India ? 

(A) tyks<+  (A) Alluvial 

(B) dkyh  (B)  Black 

(C) yky  (C)  Red 

(D) yo.kh; ,oa {kkjh;  (D)  Saline and alkaline 

21. b.Vjus’kuy lsUVj QkWj ,xzhdYpj fjlpZ bu 

MªkbZ ,fj;k fLFkr gS % 

 
21. International Centre for Agriculture 

Research in Dry Area is situated at : 

(A) lhfj;k esa  (A) Syria 

(B) Hkkjr esa  (B)  India 

(C) eSfDldks esa  (C)  Mexico 

(D) bVyh esa  (D)  Italy 



 

Ag-304 ( 9 )  Set-C 

22. vjgj dh cgqr tYnh idus okyh lcls 

yksdfiz; fdLe gS % 

 
22. Which is the most famous early ripening 

variety of Pigeonpea ? 

(A) Vkbi&7  (A) Type-7 

(B) xqycxZ  (B)  Gulberg 

(C) UPAS-120  (C)  UPAS-120  

(D) Vkbi&17  (D)  Type-17 

23. lw[kk izHkkfor {ks= esa fuEufyf[kr esa ls fdl 

Qly dh [ksrh ugha dh tkrh gS \ 

 
23. Which of the following crops is not 

cultivated under dryland farming ? 

(A) jkxh  (A) Ragi 

(B) ew¡xQyh  (B)  Groundnut 

(C) Tokj  (C)  Jowar 

(D) xUuk  (D)  Sugarcane 

24. ‘kq”d {ks=ksa esa ;wfj;k dh {kerk dks c<+k;k tk 

ldrk gS % 

 
24. In dry lands the efficiency of urea can be 

enhanced by : 

(A) dw¡M+ dh xgjkbZ esa cht ds uhps  (A) Deep placement below seed and in 

the same row 

(B) fNM+dok¡  (B)  Broadcasting 

(C) i.khZ; fNM+dko  (C)  Foliar application 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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25. ‘kq”d e`nkvksa esa dkcZfud inkFkZ dh ek=k 
----------------

 

gksrh gSA 

 
25. The dryland soils are ............. in organic 

matter content. 

(A) de  (A) Low 

(B) e/;e  (B)  Medium 

(C) mPp  (C)  High 

(D) cgqr vf/kd  (D)  Very high 

26. ‘kq”d {ks= d`f”k dk fdrus izfr’kr d`f”kr  

{ks= gS \ 

 
26. Dryland Agriculture occupies .............. % 

of cultivated area. 

(A) 60  (A) 60 

(B)  40  (B)  40 

(C)  75  (C)  75 

(D)  50  (D)  50 

27. Hkkjr esa o”kkZ ds vk/kkj ij oxhZd`r  

500&750 mm  tksu dk lEcU/k gS % 

 
27. Classification of rainfall 500 to 750 mm 

zone in India : 

(A) ‘kq”d&miknzZ  (A) Dry sub-humid 

(B) ‘kq”d  (B)  Arid 

(C) v)Z&m”.k  (C)  Semi-arid 

(D) ue&miknzZ  (D)  Moist sub-humid 
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28. ijkofrZr djus okyk ok”iu izfrjks/kh  

gS % 

 
28. Reflecting type of anti-transpirants refers 

to : 

(A) ,Vªkthu  (A) Atrazine 

(B) dsvksfyu  (B)  Kaolin 

(C) ih- ,e- ,-  (C)  PMA 

(D) flfydkWu  (D)  Silicon 

29. vkWy bf.M;k dksfMZusfVM fjlpZ izkstsDV QkWj 

MªkbZyS.M ,xzhdYpj dh ‘kq#vkr gqbZ Fkh % 

 
29. All India Coordinated Research Project 

for Dryland Agriculture (AICRPDA) was 

launched in : 

(A) 1960 esa  (A) 1960 

(B)  1980 esa  (B)  1980 

(C)  1970 esa  (C)  1970 

(D)  1990 esa  (D)  1990 

30. o`f) de djus okyk ok”iu&izfrjks/kh inkFkZ  

gS % 

 
30. Growth retardants type anti-transpirants 

refer to : 

(A) ih- ,e- ,-  (A) PMA 

(B) lkbdksfly  (B)  Cycocil (CCC) 

(C) ,- ch- ,-  (C)  Abscissic acid (ABA) 

(D) oSDlksy  (D)  Waxol (Wax) 
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31. ckjkuh {ks=ksa esa okf”kZd o”kkZ gksrh gS % 
 

31. Rainfed areas are those which receive an 

average annual rainfall of : 

(A) < 750 feeh-  (A) < 750 mm 

(B)  > 750 feeh-  (B)  > 750 mm 

(C)  750–1150 feeh-  (C)  750–1150 mm 

(D)  > 1150 feeh-  (D)  > 1150 mm 

32. bØhlsV fLFkr gS % 
 

32. ICRISAT is established in :  

(A) ubZ fnYyh esa  (A) New Delhi 

(B) nsgjknwu esa  (B)  Dehradun 

(C) gSnjkckn esa  (C)  Hyderabad 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

33. tylesV rduhdh dk iz;ksx fd;k tkrk gS % 
 

33. Watershed technology is used in : 

(A) tyeXu {ks=ksa esa  (A) Waterlogged area 

(B) ty deh {ks=ksa esa  (B)  Water scarcity area 

(C) ckjkuh {ks=ksa esa  (C)  Rainfed areas 

(D) ugj flapkbZ {ks=ksa esa  (D)  Canal irrigated areas 

34. d.Vwj es<+cUnh esa mi;qDr <ky gksrk gS % 
 

34. The contour bunding is suitable upto 

slope of : 

(A) < 6%  (A) < 6% 

(B)  6–15%  (B)  6–15% 

(C)  16–33%  (C)  16–33% 

(D)  > 33%  (D)  > 33% 
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35. ‘kq”d d`f”k {ks=ksa esa Qly vof/k gksrh gS % 
 

35. Crop growing season of Dryland 

Agriculture : 

(A) >120 fnu  (A) >120 days 

(B)  75–120 fnu  (B)  75–120 days 

(C)  >150 fnu  (C)  >150 days 

(D)  200 fnu  (D)  200 days 

36. lsUVªy fjlpZ bULVhV~;wV QkWj bªkbZyS.M 

,xzhdYpj LFkkfir gS % 

 
36. Central Research Institute for Dryland 

Agriculture is established in : 

(A) ubZ fnYyh esa  (A) New Delhi 

(B) nsgjknwu esa  (B)  Dehradun 

(C) gSnjkckn esa  (C)  Hyderabad 

(D) eSfDldks esa  (D)  Mexico 

37. Hkkjr esa fefJr Qly iz.kkyh eq[;r;k 

-------------------------
 {ks=ksa esa viuk;h tkrh gSA 

 
37. The mixed cropping is a common 

practice is most of .......... tract of India. 

(A) flafpr  (A) irrigated 

(B) ‘kq”d {ks=  (B)  Dryland 

(C) tyeXu  (C)  Waterlogged 

(D) ugj {ks=  (D)  Canal area 

38. tylesV gS % 
 

38. Watershed is a : 

(A) jsuQkWy ;wfuV  (A) Rainfall unit 

(B) gkbMªksykWftdy ;wfuV  (B)  Hydrological unit 

(C) ft;ksgkbMªksykWftdy ;wfuV  (C)  Geohydrological unit 

(D) ft;ksxzkfQdy ;wfuV  (D)  Geographical unit 
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39. ,slh ;qfDr tks e`nk dkWye dh fu;af=r voLFkk 

esa var%lzo.k vkSj fjlko kl dks ekirh gS] 

dgykrh gS % 

 
39. A device for measuring percolation and 

leaching losses from a column of soil 

under controlled condition is known as : 

(A) bufQYVªksehVj  (A) Infiltrometer 

(B) ,okiksjhehVj  (B)  Evaporimeter 

(C) lkbdksehVj  (C)  Psychometer 

(D) ykblhehVj  (D)  Lysimeter 

40. ty laxzg.k gS % 
 

40. Water harvesting is defined as : 

(A) ikuh dk mi;ksx Qlyksa esa dVkbZ rd 

djuk tSls dksyksdsfl;k] Vsfivksdk 

vkSj ;ke 

 (A) Application of water till the time of 

harvesting crops like–colocasia, 

tapioca and yam 

(B) ifEiax ;qfDr ds ek/;e ls xgjs ikuh dks 

bdV~Bk djuk 

 (B)  harvesting deep water from soils by 

pumping device  

(C) Qlyksa esa ;wfuV ty dk iz;ksx  (C)  Unit of water applied to crops 

(D) o”kkZ _rq esa tc vf/kd o”kkZ gksrh gS rks 

vfrfjDr ty tks Hkwfe esa cgus yxrk gS 

mldks rkykc esa bdëk dj d`f”k ds 

dke ykuk 

 (D)  Collecting the excess runoff from 

rain on the form in ponds and 

utilizing it later for agriculture 
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41. e`nk lrg ls ty dk uhps dh vksj xfr djuk 

dgykrk gS % 

 
41. The downward movement of surface soil 

water is known as : 

(A) vUr%L;anu  (A) infiltration 

(B) var%lzo.k  (B)  percolation 

(C) yhfpax  (C)  leaching 

(D) ok’kvkmV  (D)  washout 

42.  CSWCR & TI LFkkfir gS % 
 

42. CSWCR & TI is situated as : 

(A) gSnjkckn esa  (A) Hyderabad 

(B) nsgjknwu esa  (B)  Dehradun 

(C) ubZ fnYyh esa  (C)  New Delhi 

(D) djuky esa  (D)  Karnal 

43. vjgj dh cgqr tYnh idus okyh lcls 

yksdfiz; fdLe gS % 

 
43. Popular short duration variety of 

pigeonpea is : 

(A) xqycxZ  (A) Gulberg 

(B) Vkbi&7  (B)  Type-7 

(C) UPAS-120  (C)  UPAS-120 

(D) Vkbi&17  (D)  Type-17 

44. Tokj dh CSH-6 iztkfr 
------------------------

 izfrjks/kh  

gSA 

 
44. CSH-6 is a variety of Jowar. It is resistant 

of : 

(A) tyeXu  (A) Waterlogging 

(B) lw[kk  (B)  Drought 

(C) dhV  (C)  Pest 

(D) dksey QQw¡n  (D)  Downy mildew 
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45. LVksesVk cUn djus okyk ok”iujks/kh inkFkZ gS % 
 

45. Stomata closing type antitranspirants are : 

(A) gsDlkfMdksuy  (A) Hexadeconal 

(B) lkbdkslsy  (B)  Cycocel 

(C) ,sVªkthu  (C)  Atrazine 

(D) dSvksyhu  (D)  Kaoline 

46. ‘kq”d d`f”k {ks= esa e`nk vk/kkfjr leL;k gS % 
 

46. Problem related to soil in dryland area : 

(A) ikuh lks[kus dh deh  (A) Lack of water absorption 

(B) detksj ,oa lhfer tM+ fodkl  (B)  Weak and limited root development 

(C) tqrkbZ&cqokbZ dh leL;k  (C)  Problem of tillage-sowing 

(D) mi;qZDr lHkh  (D)  All of the above 

47. <ky ls izHkkfor {ks= ftldh lhek,¡ fu/kkZfjr 

gksrh gSa] dgykrk gS % 

 
47. Slope affected area and boundary is 

determined is called as : 

(A) tyk’k;  (A) Reservoir 

(B) tylesV {ks=  (B)  Watershed 

(C) iz{ks= rkykc  (C)  Farm pond 

(D) ,dhd`r tylesV {ks= izcU/ku  (D)  Integrated watershed management 

48. tylesV {ks= izcU/ku dk mís’; gS % 
 

48. Objective of watershed management is : 

(A) feêh ,oa ty dk izHkkoh laj{k.k djuk  (A) Effective conservation of soil and 

water 

(B) Hkwfe {kerk ds vuq:i Hkwfe dk mi;ksx 

djuk 

 (B)  Landuse capability according to its 

soil efficiency 

(C) i;kZoj.k larqyu dks iqu%LFkkfir djuk  (C)  Environment balance rehabilitation 

(D) mi;qZDr lHkh  (D)  All of the above 
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49. ikuh dh deh ls fdl gkWeksZu dh lfØ;rk ?kV 

tkrh gS \ 

 
49. Due to lack of water which hormone’s 

activity is less ? 

(A) bFkkbyhu  (A) Ethylene 

(B) ,Clsfld ,flM  (B)  Abscissic acid 

(C) lkbVksdkbfuu  (C)  Cytokinin 

(D) mi;qZDr lHkh  (D)  All of the above 

50. lw[kk vojks/kh ikS/kksa esa 
---------------------- 

vf/kdrk ik;h 

tkrh gSA 

 
50. Drought resistant plants have ............. in 

excess. 

(A) izksyhu dh  (A) Proline 

(B) flLVhu dh  (B)  Cysteine 

(C) ykblhu dh  (C)  Lysine 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

51. lw[kk vojks/kh Qlyksa esa ik;k tkrk gS % 
 

51. Drought resistant crops have : 

(A) vf/kd tM+&ruk vuqikr  (A) Higher root-shoot ratio 

(B) de tM+&ruk vuqikr  (B)  Lower root-shoot ratio 

(C) vf/kd ruk&tM+ vuqikr  (C)  Higher shoot-root ratio 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

52. eDdk mnkgj.k gS % 
 

52. Maize is an example of : 

(A) C3 ikS/ks dk  (A) C3 plant 

(B) C4 ikS/ks dk  (B)  C4 plant 

(C) dSe ikS/ks dk  (C)  CAM plant 

(D) mi;qZDr lHkh  (D)  All of the above 
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53. iyokj dk iz;ksx djrs gSa % 
 

53. Mulch is used for : 

(A) [kjirokj fu;a=.k ds fy,   (A) Control of weeds 

(B) ueh cpkus ds fy,  (B)  Saving moisture 

(C) rkiØe ds fu;eu gsrq  (C)  Regulation of temperature 

(D) mi;qZDr lHkh  (D)  All of the above 

54. Å/okZ/kj iyokj mi;ksxh gksrh gS %  
 

54. Vertical mulch is used for : 

(A) cyqbZ feêh ds fy,  (A) Sandy soils 

(B) ioZrh; feêh ds fy,  (B)  Hilly soils 

(C) dkyh feêh ds fy,  (C)  Black soils 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

55. mRLosnu vojks/kd ugha gksrs gSa % 
 

55. Anti-transpirants are not : 

(A) izdk’k&la’ys”k.k c<+kus okys  (A) Increasing photosynthesis 

(B) fQYe cukus okys  (B)  Film forming type 

(C) LVksesVk cUn djus okys  (C)  Stomata closing type 

(D) ijkorZu djus okys  (D)  Reflecting type 

56. fuEufyf[kr esa ls dkSu&lh iyokj ugha ik;h 

tkrh gS \ 

 
56. Which of the following is not found 

mulch ? 

(A) /kwy  (A) Dust 

(B) Qly vo’ks”k  (B)  Crop residue 

(C) daØhV  (C)   Concrete 

(D) IykfLVd  (D)  Plastic 
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57. ty laxzg esa vkrk gS % 
 

57. Water harvesting refers to : 

(A) ty dks ,df=r djuk  (A) Collection of water  

(B) ty dks ,df=r ,oa HkaMkfjr djuk  (B)  Collection of water and storage 

(C) cgko rhoz djuk  (C)  Flow increase 

(D) mi;qZDr lHkh  (D)  All of the above   

58. tyk’k;ksa dh nhokjksa }kjk fjlko de fd;k 

tkrk gS % 

 
58. Reservoir walls reduce seepage  

losses : 

(A) e`nk&lhesaV feJ.k }kjk  (A) Soil-cement mixture 

(B) csUVksukbV }kjk  (B)  Bentonite 

(C) e`nk ifj{ksidkas }kjk  (C)  Soil dispersants 

(D) mi;qZDr lHkh  (D)  All of the above 

59. ‘kq”d {ks=ksa esa ty cgko ds izokg dks c<+kus ds 

fy, iz;ksx djrs gSa % 

 
59. In dryland area for increasing water flow 

............... is used. 

(A) pwuk&iRFkj  (A) Limestone 

(B) tSfod [kkn  (B)  Organic manures 

(C) ,LQkYV  (C)  Asphalt 

(D) ftIle  (D)  Gypsum 

60. lrgh cgko [ksrh izpfyr gS % 
 

60. Runoff farming is done in : 

(A) btjkby esa  (A) Israel 

(B) vesfjdk esa  (B)  U.S.A. 

(C) phu esa  (C)  China 

(D) Hkkjr esa  (D)  India 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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